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Roger Federer v Jo-Wilfried Tsonga Full Match | Australian Open 2013 Quarterfinal

P> Pl ¢ 0:00/2:49:20

e https://youtu.be/KHSTk2b



https://youtu.be/KHSfk2b_H0Y

AT L 7=18

- B —7Hh L >—T(serve receive)
c TJ7 =AY —=ThEAHV Y =THKTILT AL D
(first,second,doublefault)
« - — 7127 (center, middle, wide)
» 7 1) — 8%k (0[=],1[8],2[5]--)
« L o= E B NT=H (win, lose) =
s RDIRK(FT—ERT—XFHTRDD G E)




y A B | C | D E | F | G

1 |fAFRA> E Y—THhL—T 77—RbH—ThtAhYy FH—THrE7L75+L D Y—T7FfF ZY—RE L-oToh RO

2 1 receive first middle 7 win FETERDH D

3 | 2 receive first middle 5 lose X

4 3 receive doublefault X 0 win LTINT #IL b
5 4 receive second middle 8 win RL—7L—

6 5 receive first center 1 lose X

7 6 receive first wide 3 win BICE-AZREET
8 | 7 searve first middle 7 win FETRD S

9 | 8 searve second middle 1 win P—EAT—X
10 | 9 searve first wide 8 win IR

11 | 10 searve second center 1 win Y—ERXI—X
12 | 11 receive first center 1 lose X

13 12 receive second middle 1 lose X

14 | 13 receive first middle 12 lose X

15

14 receive second middle 3 win TR

—- - sr . o2 L
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Tibrary(arules)

par(family= "HirakKakuProN-w3")

TJzF3—F—4% <= read.csv("C:\\EFE\W\BEAF2EE\\EMH\\T7 = T 5 — 951 .csv",header=TRUE, row.names=1, colClasses="factor",fileEncoding =
J1FS—FSoHY T3 <-as(F7zF 5 —F— 4=, "transactions™)

summary(Z7 =z > 22— F3HF 2 23 0)

inspect(Z7z > 22—+ 2 2 30)
itemFrequency(7 =z 3 — +F 3 w2 L 3)
itemFrequencyPlot(Z7 =z ¥ > — F3 Y 7 2 3, ylim=c(0, 1), cex.names=0.7)

275 =)= <= apriori(Zz5FS5—F3oH 523,
parameter=Tist(minlen=6, supp=0.05, conf=0.65, ext=TRUE),
appearance=list(rhs="¢& - /=i & &N 7z v=win"”, default="1hs"))

o EFER1LL Y AN — )L <- subset(Z7 = &5 — JL— Jl, subset= (rhs %in% "& -/ & anfb=win™) & (1ift>1.0) )
inspect(fogEFRLL Y IL — L)
inspect(sort(Z z & > —JL— ), by="1ift")[1:4, ])|
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[1] {Y—Th L i —F=searve,
H— JiEF=wide,

> 1) —[E#=1,
RhPR=H—E AT — 2,
X=}

[2] {Y—7HL i —F=searve,

Ty =AM =TbEAV =TI TILT 2L F=first,

> 1) —[E#=1,
RhPR=H—E AT — 2,
X=}

[3] {#—ThL i —F=searve,

Ty =AM =TbEAV FS-T0ATILT 2L F=first,

H— JiEF=wide,
FehIk=tt - 2T —2,
X=}

[4] {Y—7hL i —F=searve,

Tr—2A LY —=TbhEhu Y =T ETIL T2 )L FD=second,

H— Ji5Fh=middle,
RDPR=2 2,
X=}

{&ofehEonhizh=win} 0.06097561

{&ofehEonhizh=win} 0.07317073

{&ofehEonhizh=win} 0.06097561

{&ofcéonfch=win} 0.06097561

1 0.06097561

1 0.07317073

1 0.06097561

1 0.06097561

1

1

1

1

.822222

.822222

.822222

.822222
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